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The disgram shows apencil o length 15 cn.
It s made from a cylinder and a cone.

The cylinder has diameter 0.7cm and ength 16 Scm.
The cone has dismeter 0.7cm and length 1.5

(@) Calculate the volume of the pencil.

[The volume, ¥, o a cons ofradivs  and eight s givn by 8]
®
NotT0
SCALE
000000
000000
Toeiv o these pencil just 6t o rctangular bos o gt 18 m, widh v n andheghtxc.
The pencls e i 2 rows of 6 a show i th dagram.
® Wet down the vales ofw and x. @
(@ Calelte the volum ofthe box. @
() Calelatethe percentage of th v fthe bos accupcd by the pencl @
© Showing il your workin,clelae
® the slam hgh, I ofthe con, @
(8 the total suface arc of ome pencil, v your answe coreet 0 3 signifcant Fgures.
[Thecurved srface ara. 1, of 8 con o radus »and stant heigh s given by A= 1] [6]
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(i) Describe completely the single transformation represented by N. 6]
8 @
2+
x+2 . NOTTO
SCALE
2-40
‘The diagram shows a trapezium.
Two of its angles are 90
‘The lengths of the sides are given in terms of x.
‘The perimeter is 62 units
(i) Write down a quadratic equation in x to show this information. Simplify your equation. 6]
(i) Solve your quadratic equation. 6]
(i) Write down the only possible value of x. 0]
(i) Calculate the area of the trapezium. B)]
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() Draw the tangent to y = f(x) at x = 3. Use it to calculate an estimate of the gradient of the curve
at this point. 3]
5 () Calculate the area of an equilateral triangle with sides 10 cm. o]
(b) Calculate the radius of a circle with circumference 10 cm. o]

(©)

O

10cm 10cm

Diagram | Diagram 2 Diagram 3

‘The diagrams represent the nets of 3 solids. Each straight line is 10 cm long. Each circle has
circumference 10 cm. The arc length in Diagram 3 is 10 cm.

() Name the solid whose net is Diagram 1. Calculate its surface area. €]
(i) Name the solid whose net is Diagram 2. Calculate its volume. O]
(iii) Name the solid whose net is Diagram 3. Calculate its perpendicular height. O]

o580, 05814 o3
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A rectangular-based open box has external dimensions of 2x cm, (x +4) cm and (x + 1) cm.

(@ () Write down the volume of a cuboid with these dimensions. 4}
(i) Expand and simplify your answer. 4}
(b) The box is made from wood 1 cm thick.

() Write down the internal dimensions of the box in terms of x. )]

(i) Find the volume of the inside of the box and show that the volume of the wood
is 8x7+12r cubic centimetres. 3]

(¢) The volume of the wood is 1980 cm®.

() Showthat 2v%+3x-495=0 and solve this equation. 5]
(i) Write down the external dimensions of the box. 2





image3.png
/ B Facebook  x [ onlinekarac x { [ Scotia Ontir x ¢ Jamaica Gle: x [

mathiisfun | x \ 4 Rounding N x &) Accuracyan x | ) ErrorsinMe x { 3 CIE/Cambric x | [ papersatrer

C [ [ paperstremepapers.com/CIE/Cambridge%20IGCSE/Mathematic

9%20(0580)/0580_504_qp_4.pdf

£ Apps E Solid figures | Free... @) AutoParts Warchou.. [B] History ontheNet... [} NewTab 3 [ Microsoft Outiook.. 43 Hillel Academy SIS—.. [ https://lms/ is not ... ! pbmusicsolutions - »
NOTTO
SCALE
13em

The diagram shows a solid made up of a hemisphere and a cone.
The base radius of the cone and the radius of the hemisphere are each 7cm.
The height of the cone is 13 cm.

(@) () Calculate the total volume of the solid.

[The volume of a hemisphere of radius r is given by ¥ = 3m ]

[The volume of a cone of radius r and height i s given by ¥’ ]

(i) The solid is made of wood and 1 em’ of this wood has a mass of 0.94g.

Calculate the mass of the solid, in kilograms, correct to 1 decimal place. 8]

(b) Caleulate the curved surface area of the cone.

[The curved surface area of a cone of radius r and sloping edge /is given by A=l ] 6]
(€) The cost of covering all the solid with gold plate is $411.58.

Calculate the cost of this gold plate per square centimetre.

[The curved surface area of a hemisphere is given by 4 = 2] 51
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